12 GA. GALV.
COMMERCIAL TOP
ROLLER BRACKET

ATTACHED W/(3> 1/4*
x 1 SCREWS PER
BRACKET

2 10 BALL STEEL
LONG STEM ROLLERS
W/RETAINERS USED

FOR NON THREADED

SHAFTS

TYPICAL TOP FIXTURES

37 20GA STRUT
ATTACHED AT EACH

END STILE LOCATION
W/ 1/4* X 1 SCREWS

]
ADJUSTABLE ROLLER

CARRIER ATTACHED W/ (2)

5/16" x 3/4" BOLT & NUT

PER BRACKET

(T

N.T.S.

O

e

3 20GA. STRUT ATTACHED
W/ @ 1/4" x 1" SCREVS
AT EACH CENTER STILE

14GA. MIN. CENTER
HINGE ATTACHED

W/ (5> 174" x 1" SCREWS TYPICAL TOP

TYPICAL CENTER HINGE

EXTERIOR SKIN
27 GA MIN

N.T.S.

W

END STILES

8/

DOOR HEIGHT

TYPICAL 24

SECTION

PANEL

TYPICAL

e

16’-2*

STEP LIFT
HANDLE

DOOR WIDTH

DOOR INTERIOR ELEVATION

N.T.S.

16'-0"

JAMB SEAL
OPTIONAL

2X6 No. 2 OR BETTER SPF wOOD JAMB
| 5/16" x 1 5/8* LAG SCREW

OPENING WIDTH

(1> PER JAMB BRACKET

o,

063" MIN TRACK

8//

7/ m 7/
INTERMEDIATE_/

HINGES 14GA

ROLLER
HINGE 14GA

BOLT AND NUT
OR 2> RIVETS

2°-10 BALL STEEL

4.5’ STEM ROLLERS (MIN.
RETAINERS USED FOR
NON THREADED SHAFTS

(LONG STEM ROLLERS USED IN

TOP AND BOTTOM FIXTURES)

BRACKET MOUNT TO wOOD JAMB DETAIL

N.T.S.

20ga PAINTED

SLIDE LOCKS
(2 PLACES>

1/4-20 x 5/8‘TRACK SPLICE

©

3’ 20GA. STRUT
ATTACHED

W/ @) 1/74" x 1*
SCREWS AT EACH END
STILE

ATTACHED W/ (3> 1/4*
x 17 SCREWS

2’ 10 BALL STEEL
4.5’ STEM ROLLERS
(MIN.
W/RETAINERS USED
FOR NON THREADED
SHAFTS

TYPICAL END HINGE 3
N.T.S.

3’ 20GA. STRUT
ATTACHED

W/ (@ 1/4" x 1*
SCREWS AT EACH END
STILE

TONGUE & GROOVE
SECTION JOINT

TYPICAL BOTTOM

POLYURETHANE
INSULATIDON CORE

BOTTOM BRACKET
11 GA., (MIND
ATTACHED

W/ 1/74* X 1”
HEX HEAD SCREWS

SECTION

2’ 10 BALL STEEL
LONG STEM ROLLERS

SECTION
=

SECTION ~

(2> 3’ 20 GA STRUTS ON TOP
SECTION ATTACHED

W/ @) 1/4° X 1 HEX HEAD
SCREWS AT EACH END STILE
AND CENTER STILE LDOCATIONS

ROLLER BRACKET ATTACHED WITH (3>
174 x 1 HEX HEAD UNIV. SCREWS
PER BRACKET ADJUSTABLE SLIDE
BRACKET IS ASSEMBLED WITH &)
5/16” x 3/4° CARRIAGE BOLTS & NUT
PER BRACKET

INTERIOR SKIN 27 GA

TYPICAL .
@ 3° 20 GA STRUT ON EACH
INTERgEg?EE INTERMEDIATE SECTION ATTACHED
14GA. MIN, END HINGE ~ W/ (2 1/4* X 1° HEX HEAD

SCREWS AT EACH END STILE AND
CENTER STILE LOCATIONS

3-1/4" X 20 GA CONTINUOUS
BACKER PLATE BEHIND BACK
SKIN AT TOP AND BOTTOM OF
EACH SECTION

(@) 3° 20 GA STRUTS ON THE
BOTTOM SECTION ATTACHED
W/€2> 1/4° X 1 HEX HEAD
SCREWS AT EACH END STILE,
CENTER STILE, AND HALF WAY
BETWEEN CENTER STILES

BOTTOM BRACKET
11 GA. (MIND

A—A (SIDE VIEW)

P

W/RETAINERS  USED | Rey | DESCRIPTION OF REVISIONS DATE  |BY
FOR NON THREADED
SHAFTS
MAX SIZE, g@ NS E
TYPICAL BOTTOM BRACKET (' 162 x 24" | 38 S<eOF Ta M, E
N.T.S. D:.% ;’%«...,o"'.. '"".{4&\’ 3
DESIGN LoaDs| EE 24 o 2
+23.3 PSF | g
—26.3 PSF | 92 e
Sa 3 £
TEST LOADS | £ %, 85829 Z
+35.0 PSF | 5% 4 op;.,{,/cENse?,éé Ve &
-39.5 PSF | 25 V8 o NS &
2 Rty :
"2 TX 5
THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WTH THE PROCEDURES DESCRIBED IN DASMA 108. THE
PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED ENTREMATIC
USING ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS
(5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10" OR 165 CARRIAGE COURT VINSTEN-SALEM, NC. 27109
LESS, AND [=1.0): AMARR MODEL 1350 (27GA)
WIND SPEED (MPH 30 8 112 107 | 103 R MODEL 2700 (27GA)
( ) |1 1 SZE| ORAWNBY RS | DATE 1/16/15 DRAMING NUMBER
EXPOSURE LEVEL B | ¢ [ ¢ 10| Dl plompw o vors IBC-1316-130-15
MEAN ROOF HEIGHT | 30' | 15" | 25" | 15"] 25 pre—




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

. NOTES:
ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND

ITW BUILDEX 1/4°-14 12 GA. OR 3/16° FLOOR.

X 374 séE'gE,;”é?EIK“é‘i STEEL (SEE BELOW) 1/8° NOM X 17 LONG 1/4* LONG TACK 2, FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF

FILLET WELD (E60xx WELD SAME SPACING THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR
ELECTRODES MIN. AS FILLET WELD INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.
LZZZTZZTZTTY)
3, MIN. EGDE DISTANCE OF 3 REQUIRED.

: 4, USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER.

4 5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A
TREEEEEL REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS IN
ADDITION TDO OTHER LOADS.

T 6. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL
NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL.

7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER
OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO
VERIFY THE INTEGRITY OF THE WELD.

—

4

CLIP STYLE REVERSE ANGLE MOUNT SHOWN
BRACKET, CONTINUDOUS AND TAPERED ANGLE 8, FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE
_ STEEL FRAMIN TAPERED  ANGLE MOUNT AVAILABLE > ROTATION OF TRACK ANGLE, | e STAciNG 10 PREVERT
232 LBS./SCREW ALLOWABLE LOAD - 6
FROM ENDS AND 12’ O.C. STEEL FRAMING 12GA OR BETTER
REFER TO NOTES: 1, 2 AND 5 1590 LBS./IN. ALLOWABLE LOAD -
6° FROM ENDS AND 24 DC.
3/16* STEEL FRAMING REFER TO NOTES: 1, 2, 5, 6, 7, 8
S69 LBS./SCREW ALLOWABLE LOAD - 6 AND 9
FROM ENDS AND 24‘ 0O.C.
REFER T0 NOTES: 1, 2 AND S WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)
2000 PSI MIN. g%ﬁjgnu E%ERED':\ET_TIE aoooc g&éRE}r'\é §£%€§D§L§E\R,']E“i‘iﬂm 2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
CDNCRETE\ 389 WEDGE ALL \ EXPANSION ANCHOR WITH | 5/16” X 3" LAG SCREWS STARTING 6" FROM ENDS
7786 WASHER. 1-3/4°MIN. : 7/8°¢ WASHER. 1-3/4°MIN. | THEN 24" 0.C. (1 1/2” EMBEDMENT)
+| EMBEDMENT EMBEDMENT 2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI_CONCRETE
. ‘e HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS
THEN 24” 0.C. (2 1/2" EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS
] THEN 22" 0.C. (1 1/4” EMBEDMENT)
2'3‘(3_ L?ﬁCK 2-\%3: L';;CK ITW/RAMSET REDHEAD (TRU—BOLT) 3/8” X 4" STARTING 6" FROM ENDS
(L5 x EMBEDMENT) (1S x EMBEDMENT) THEN 24" 0.C. (2 1/2" EMBEDMENT)
2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—90 BLOCK
SIMPSON 1/4” X 3" TITEN SCREWS STARTING 6" FROM ENDS, REV | DESCRPTION OF REVISIONS DA |BY
4 MIN. EDGE 3¢ MIN, EDGE USE PAIRS OF FASTENERS (3" APART)
DISTANCE ~ DISTANCE AT 16" 0.C. (1 1/2” EMBEDMENT) -
HILTI 1/4" X 2-3/4" KWIK—CON Il+ SCREWS STARTING 6" FROM ENDS, = 2
CLIP STYLE CONTINUOUS ANGLE MOUNT SHOWN CONTIN GLE M W USE PAIRS OF FASTENERS (3" APART) AT 16” 0.C. (1 1/4" EMBEDMENT) MAX SIZE 28 SN s
CONTINUOUS ANGLE MOUNT SHOWN » " 0.C. ” 2 ~ N
BRACKE T, REVERSE AND TAPERED ANGLE MOUNT BRACKET, CONTINUDUS AND TAPERED ANGLE 2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PS| GROUT) 162 x 24 §§ SREOFTEM, 2
MOUNT AVAILABL - - == i X 5
‘ HILTI SLEEVE ANCHOR 3/8” X 2—3/4”" STARTING 6" FROM ENDS i ;’;"ﬁ *q g
2000 PSI CONCRETE OR GREATER 2000 PSI CONCRETE OR GREATER THEN 24" 0.C. (1 1/4” EMBEDMENT) DESIGN LoaDs| & E 7
g?lrkgﬁ'/&;’g“ﬁgng,N%HgR ALLOWABLE LDAD - 336 LBS./EXPANSION ANCHOR ALLOWABLE (OR, USE FASTENERS FOR HOLLOW C—-90 BLOCK) +23.3 PSF | 5% /% g
REFER TO NOTES: 1, 2, 3, 4 AND S LOAD - O i ENDS AND 18 T *[AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. -26.3 PSF | g2 5 o ' ([‘,’
te *PREPARATION OF WOOD JAMBS BY OTHERS 3% et g
3@ [ : <
WOoD CONCRETE TEST LoMS | 52 "! : z;’z-’ :
= Yo K
TRACK CONNECTION TO WOOD JAMB OPTIONS S| |SwucTuRe STRUCTURE e rer |28 ‘\Q;&,-/....N..&c,\\\“;f 2
s - . w E - .
FOR LAG SCREWS & BRACKET SPACING SEE TRACK CONFIGURATION DETAIL § gg \\\\QQA\\;-” 5
2 i \ i \ ﬁg -
1 -1 — 1" u u<l ._./| 2 TX §
.L__I. \_%)r(g JAMB _l__.l_
w}/})}}ww 172" MIN . 2-3/74' MIN
W DI 97
N e o e o ENTREMATIC
ai)
e —rv— " f M 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
‘=- - T AMARR MODEL 1350 (27GA)
v T T AMARR MODEL 2700 (27GA)
BRACKET MOUNT CONTINUOUS ANGLE MOUNT REVERSE ANGLE MOUNT ___I___ I ' SZE| DRAWN BY RS | DATE 1/16/15 DRAWING NUMBER
S/16° x 1 5/8° LAG SCREW (D) 2x6 WOOD JAMB SYP OR SPF 1178 MIN 4 B[ cEckenBY RR | DA 1/16/5 IBC-1316-130-15
PER JAMB BRACKET (1-1/27 (NO.2> OR BETTER (TYP)
EMBEDMENT MINIMUMY (TYPJ) SHEET 2 OF 4




TOP SECTION

B B
21-3/8*
] - " Max. DLO
) et i ——1 ) ‘ : =
A ‘ 3-1/4* | /i J
A A DOOR SKIN = = =
v v @ @ v ALUMINUM MAX. DLO
. . SPACER .080 <9 /.
NTS TIONAL GLAZED SECTION W/ 24" X 6" W \ / , , PLEXI-GLASS '\ 24° X_6° DAY LIGHT OPENING AND FASTENER DETAIL
< S 7 N.TS.
INTERMEDIATE SECTION i~ /  HOT MELT
gl‘;gggéun PeEXI-6LASS ADHESIVE 23-3/8
DOOR SKIN MAX. DLO
EXTRUDED HOT MELT
POLYPROPYLENE ADHESIVE ~
#8 ZINC SCREW l a ﬁ
SECTION B-B 24° X 6° WINDOW DETAIL W/ .080 PLEXI-GLASS 10-3/167
N.T.S, MAX.‘DLD y / / I
_DPTIONAL GLAZED SECTION W/ 24* X 6* WINDOWS W\ >
N.T.S. : : : Z
26° X 13° DAY LIGHT OPENING AND FASTENER DETAI
N.T.S.
J0P SECTION
c c
21-5/8"
—Max. DLO
i .

1 I ,Q:ﬂ
=/ /i1l VA =] e Lo
A A POLYSTYRENE ADHESTVE ADHESIVE Max. Lo |
v @ ' @ @ / igfeox;-t;LAss \ E\ ponR SN j AN 0 )

Gha L / 267 X 137 WINDOWS : // N 24 X 12* DAY LIGHT OPENING AND FASTENER DETAIL
N.T.S. e N 7/ NT.S.
NTERMEDIATE_SECTI i \{\ /7P //
A : : : ' AN 77 oso / \#8 ZINC SCREW
: QE'A‘EEEEYRE"E PLEXI-GLASS INC
- ” . A P -
. /I Vi V4 Vs _ r\?’.ErFS'I.'IEIN C-C_ 26" X 13° WINDOV DETAIL W/ INSULATED PLEXI-GLASS vy e—————— oy
: : — :
PTIONAL GLAZED TION © X 13° WIND 0 2
NT.S MAX SIZE | S8 PO Y N
o 162 x 24 |83 ~<eOF g W Q
33 ’4— F....-.n... .*4 \ S
I SECTIN S ol S
D D DESIGN LOADS|EE£ S * & . x l)
+23.3 PSF |gx 2% L % g
~26.3 PSF | o3 ;.TH &
5% L. g
— 1 - 9 = gg !' <
I I I | TEST LOADS | 5% 3
/11 ! /Y I /Y . +35.0 PSF |53 ! 5
1/8°DSB GLASS HOT MELT ADHESI -395 PSF |J5 \CISionaLEN N <
; @ @ @ A \ DOOR SKIN EZ N z
Z 3 i
— \ 7/ 7" =F= TX 5
PTIONA TION W/ 24 ’ 5 7/ - : 2
NS, ;% 7/8* SPACER——————
/ 4 HOT MELT B
#8 ZINC SCREV 1/8°DSB GLASS ADHESIVE DOOR SKIN ENTREMATIC
EXTRUDED
POLYPROPYLENE 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
SECTION D-D_ 24° X 12° WINDOW DETAIL W/ 1-1/8" INSULATED GLASS AMARR MODEL 1350 (27GA)
N.T.S. AMARR MODEL 2700 (27GA)
SZE| DRAWNBY RS | DATE 1/16/15 DRAWNG NUMBER
NTF;T A : £-o4z X 12 WINNOY B | CHECKED BY RWR | DATE 1/16/15 IBC-1316-130-15
SHEET 3 OF 4




TABLE 1

% ; Secti Center Stile Locations Max Design Loads
%@ V?IT dltc;\n (Measured from Left Edge) Allowed
14 GA. FLAG BRACKET ATTACHED TO wOO %;-“, 1st i ) Positive Negitive
JAMB W/ (3) 5/16 DIA. X 1-5/8° LAG BOLTS %;__ (ft) 3 2nd (in)| 3rd (in) PSF PSF
AND TO TRACK W/ (4 1/4°-20 x 5/8° TRACK 7 i (in) (PSF) (PSF)
SPLICE BOLTS AND NUTS é 12] 4 51.084 | 96.916 - 23.2 26.1
% 126 | 51170 | 98830 | - | 227 | 256
é?_\, 12 | & | 52.100 | 99.900 | - 225 254
%; 12 [ 10"] 53.100 | 100.900 = [0 222 @ 251
s [ SPLICE_TRACKS AT THIS %2 13'] 0" | 54.100 | 101.900 - 22.0 24.9
(SPLICE> LOCATION %g T T +— —— — e —
]\;/D/L%n &1/;6%0 TRACK SPLICE %.’-:: A3 2t} 551 | 1029 [ - 218 | 246
SECURE TO JAMB WITH (3) 7 13'| 4" | 54.900 | 105.100 - 21.3 24.1
E-I :-H 5/16° DIA, x 1-5/8° LAG BOLTS é;’l 1316 | 55900 | 106.100| - T o1 239
A ; . : o 21 :
D é'i 13'] 8" | 56.625 | 107.375 - 20.9 23.6
(1) 5/16" DIA. x 1-5/8" § 13'10"| 57.170 | 108830 - | 206 233
0T o e gt [f[o e [iegis| . | ws | mo
. BOLTS & NS 14{2»] 592 | 1108 | - | 202 22.9
12 GA. GALV. STEEL T G verne, mack | 14' [ 4" [ 60.170 | 111.830 - 20.1 226
T NTACHED W7 1) 1/47-20 -é 14|6"| 61.170 | 112830 - 199 22.4
B | g;'\?;) SR%I'_:CTES BOLT & NUT g & & é 14'| 8" | 44,812 | 88.000 | 131.188 25.5 28.8
A g é i 5P g 3 | 14' | 10"| 45.600 | 89.000 | 132400 | 252 285
I ToE (b 2 | : § 15'| 0" | 46.600 | 90.000 | 133.400 24.9 28.2
52| : B | 7.8
TRACK CONFIGURATION FOR UP TO 24’ TALL DOORS 5 ‘2‘"" 4‘;72‘20 921680 1;247'20 j:: Zi
N.T.S. . . 0. . .
SEE TABLE 2 FOR TRACK ATTACHMENT SPACING ‘ﬂi m J 15| 6" | 47.600 | 93.000 | 138400 | 24.1 272
— — 15'| 8" | 48.600 | 94.000 | 139.400 23.9 27.0
LABLE TRACK CON ¥ i p : : HE
TABLE 2 RUILACLE TRACK CONPERATOES 15' | 10| 49.167 | 95.000 | 140.833 236 | 267
HEIGHT SPLICE 16 |27] 512 | 970 142.8 233 | 263
F ' REV | DESCRITION OF REVSIONS DAE  [BY
SPECIFICATIONS AND NOTES
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE o
VERTICAL TRACK, FROM THE TRACK THE LOAD IS TRANSFERRED TO THE = g
VERTICAL JAMBS. THE HORIZONTAL JAMB OR HEADER RECEIVES NO MAX SIZE | 28 SN N
PORTION OF THE LOAD TRANSFERRED FROM THE DOOR. 162 x 24’ | B8 (e OF TE, 9
2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: s Pl SRR LN &
+188.3 LBS/FT & =-212.6 LBS/FT o PR : -8
3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED : DESIGN LOADS| E5 S * -
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. +23.3 PSF 1w 2 KA. o xd 2
4. DOOR SECTIONS SHALL BE 27 GA. (.015) MIN. EXTERIOR SKIN —26.3 PSF | oo 0K ASL SHEL Dl 2 o
ROLLED FORMED, W/ BAKED ON POLYESTER FINISH % e g
5. DOORS UP TO 24'0" HIGH HAVE (2) 3" 20GA STRUTS PER SECTION TEST LoaDS | 8 85829 | >
6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED +35.0 PSF | 22 ‘%X'--"CENSY&--" é}fj g
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS —395 PSF | =2 4 RO NI b
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS. 4 C WOSIONALEN 2= .
§§ N o)
~& TX B

IN OR OF GARAG
e MAX. WIDTH 162"  |==— ENTRE//MATIC

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105
AMARR MODEL 1350 (27GA)

pesin tosds{ | [ LI 1 LT1TT] AMARR MODEL 2700 (27GA)
+188.3 LBS/FT SEE NOTE 2
, . W , —212.6 LBS/FT SZE| DRAWNBY RS | DATE 1/16/15 DRAWNG NUMBER
ALL TRACK ATTACHMENT SPACING +/-2* ALLOWED WITH SPF OR SYP NO. 2 OR BETTER ONLY B | cEckeoBY RIR| DATE 1/16/15 [BC-1316-130-15
AMARR MODEL 1350 ONLY AVAILABLE UP TO 14’ SHEET 4 OF 4




